

Sec 7

1. Ans

$$f(t) = \frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos \frac{n\pi t}{2}$$

$$a_0 = \frac{2}{2} \int_0^2 f(t) dt = \frac{2}{2} \left[ \int_0^1 2t dt + \int_1^2 2(2-t) dt \right]$$
$$= \left[ \left( \frac{2t^2}{2} \right)_0^1 + \left( 4t - t^2 \right)_1^2 \right]$$

$$a_0 = [1+1] = 2$$

$$a_n = \frac{2}{2} \int_0^2 f(t) \cos \frac{n\pi t}{2} dt$$

$$= \frac{2}{2} \left[ \int_0^1 2t \cos \frac{n\pi t}{2} dt + \int_1^2 2(2-t) \cos \frac{n\pi t}{2} dt \right]$$

using integration by parts

$$= \frac{2}{2} \left[ \left( 2t \frac{2}{n\pi} \sin \frac{n\pi t}{2} + 2 \frac{2^2}{n^2 \pi^2} \cos \frac{n\pi t}{2} \right)_0^1 \right. \\ \left. + \left( 2(2-t) \frac{2}{n\pi} \sin \frac{n\pi t}{2} - 2 \frac{2^2}{n^2 \pi^2} \cos \frac{n\pi t}{2} \right)_1^2 \right]$$

$$= \left[ \left( \frac{4}{n\pi} \sin \frac{n\pi}{2} + \frac{8}{n^2 \pi^2} (\cos \frac{n\pi}{2} - 1) \right) + \left( -\frac{8}{n^2 \pi^2} \cos \frac{n\pi}{2} \right) \right. \\ \left. - \frac{4}{n\pi} \sin \frac{n\pi}{2} + \frac{8}{n^2 \pi^2} \cos \frac{n\pi}{2} \right]$$

$$= \frac{16}{n^2 \pi^2} \cos \frac{n\pi}{2} - \frac{8}{n^2 \pi^2} \cos n\pi$$

$$= \frac{8}{n^2 \pi^2} \left[ 2 \cos \frac{n\pi}{2} - 1 - \cos n\pi \right]$$

When  $n$  is odd,  $\cos \frac{n\pi}{2} = 0$  and  $\cos n\pi = -1$

$$\therefore a_n = 0 \Rightarrow a_1 = a_3 = a_5 = \dots = 0$$

When  $n$  is even.

$$a_2 = \frac{8}{2^2 \pi^2} \left[ 2 \cos \frac{2\pi}{2} - 1 - \cos 2\pi \right] = \frac{8}{\pi^2}$$

$$a_4 = \frac{8}{4^2 \pi^2} \left[ 2 \cos \frac{4\pi}{2} - 1 - \cos 4\pi \right] = 0$$

$$a_6 = \frac{8}{6^2 \pi^2} \left[ 2 \cos \frac{6\pi}{2} - 1 - \cos 6\pi \right] = \frac{8}{9\pi^2}$$

$$f(t) = \frac{a_0}{2} + \sum_{h=1}^{\infty} \cos \frac{h\pi t}{l}$$

$$= 1 + \left( \frac{8}{\pi^2} + 0 - \frac{8}{9\pi^2} \right) = 1 - \frac{8}{\pi^2} \left( 1 + \frac{1}{9} + \dots \right)$$